Bubnnoteka COK

Hacoc noBepxHocTHbIN xxam60 60/35 I

Ne KON-BO
HaumeHoBaHKne Kop B
nos
Hacoce
1 OnekTpoasuratens AUE63 26Y3 K90 0,55 kBT M043 1
2 KonbLo 028-032-25 MOCT 9833-73* M192 1
3 Conno B cbope 60/35 M116 1
4 Hanpaensiowmii annapat ¢121x42 M1100 1
5 Koneco paboyee ¢120x40- ¢12M10 M815 1
6 YnnoTtHeHve Topuesoe ®12-026-20,5 (5) M042 1
7 KonbLo 150-155-36 OCT 9833-73 M200 1
8 [Ho 60/35 M940 1
9 Kopnyc Ixambo 60/35 M - 1/4"-2 M1101 1
10 | 3arnywka G 1/4" N, natyHHas 3ri-4nn 2
11 Konbuo 012-16-25 FOCT 9833-73 M191 2
12 | BuHT M5x35 oumHkoBaHHbIM DIN912 BHyTp. wecT., kn 8,8 M142 8
Anektpoasuratens AUE63 2BY3 K90 0,55 kBt
COCTOMT:
1.1 | Kpblwka BeHTUnsiTopa AUE63 26Y3 K90 M338 1
1.2 | BeHtunstop AME63 26Y3 K90 M336 1
1.3 | WWT noAwmnHMKoBbIN 3aaHnii AVE63 2BY3 K90 M1143 1
1.4 | BonTt M5x125, OLUMHKOBAHHbI M535 4
1.5 | Wanba ®5, oumHkosaHHasi DIN 125 M279 4
1.6 | Ynop @34x25-M6x5 M626 1
1.7 | Kopnyc aB. c o6MoTkoi AUE63 26Y3 K90 KAOAME6390 1
1.8 | Kopobka koHaeHcaTopHas 134x111 mm M543 1
19 ?EHX‘HO‘-IETeI‘II: 4 koHTakTa, 30x25MM, ¢ noaceeTkoi 250 B, B3015A 1
1.10 | YnnotHexue BbiknoyaTens 30x25MM M624 1
1.11 | KneMMHasi konogka 3-X KOHTaKTHas M541 1
1.12 | BuHT M4x8 oumHKoBaHHbIN DIN7985 M540 5
1.13 | Waiiba ®4, oumHkoBaHHasi DIN 125 M918 3
1.14 | BuHT M4x10 ounHKoBaHHbIM DIN7985 M544 1
1.15 | 3axum koHaeHcaTopa 57x15x10 3KKHA57x15x10 1
1.16 | KongeHcatop uF10 V450 35x63...70 Y346 1
1.17 | YnnoTHeHWe KOHAEHCATOPHOI Kopobku 134x111 MM M542 1
1.18 | Kpblllka KOHAEHCATOPHOM KOPoBKM 134x111 MM M622 1
1.19 BWHT camMoHapesatowmii ®4x16, ouMHK, NMMH3006pa3Has M539 4
ronoeka
1.20 | Potop AME63 26Y3 K90 M329 1
1.21 | MoawunHuk 6201-2RZ M327 2
1.22 | KpoHwrTeiiH  AME63 26Y3 K90 M350 1
1.23 | Mposoa 3x1,0 MM?* c Bunko L=1,5m MNnB3x1-1,5 1
1.24 | YnnotHeHue repMoBBosa  17x8-8 M546 1
1.25 | HakvgHas raika M18x1,5 nnactM. M623 1



https://www.c-o-k.ru/library/instructions/brands

Hacoc-aBTomaTt [1xxam60 60/35 IN-K

(ot K KO0 N KN Kl D

N2 HaumeHoBaHue Kop Kon-so B
nos Hacoce

1 | Dnektpoasuratens AME63 26 ¥3 K90 0,55 kBt M043 1

2 Kopniyc «dxambo» 60/35MM-1/4 - 2 M1101 1

3 | 3arnywka G1/4 I, natyHHas 3ri1-4ni 2

4 Konbuo kpyrnoe 012-016-25 OCT 9833-73 M191 2

5 | Konbuo 028-032-25 (029-033-25) OCT 9833-73 M192 1

6 Conno B cbope 60/35 M116 1

7 Hanpaensitowmin annapat $121x42 M1100 1

8 Koneco pabouee ®120x40-012M10 M815 1

9 | YnnoTtHeHue Topuesoe ¢p12-¢26-20,5 (5) M042 1

10 | Konbuo 140-150-46 IOCT 9833-73 M114 1

11 | OHo 60/35 M940 1

12 | BUHT M5x35 oumHkoBaHHbIM DIN912 BHyTp.lwecT., k1.8.8 M142 8

13 | 3arnywka TpaHcnopTHas HIMO 00.005 «Bogomet» TIMA ¥330 1

14 | bnok aBTOMaTUKM 9001 1




